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QUESTION 1

Praveen performed a single-node installation of Oracle Applications R12 on a Linux server. After a few days, he got one
more server with the HP operating system. To use resources of both the servers, he decided to move the database tier
to the new HP server. Identify the correct sequence of steps that he needs to perform to successfully move the
database tier.

1.

Start up the database and listener.

2.

Shut down only application tier services.

3.

Export the database from the Linux server by using the exp utility.

4,

Install fresh 10g software on the HP server.

5.

Create an empty database on the HP server.

6.

Import data into empty database on HP server using the imp utility.

7.

Copy only the $ORACLE_HOME database from the Linux server to the HP server.

8.

Run AutoConfig on the database tier after changing the SCONTEXT_FILE.

9.

Shut down all services of Oracle Applications R12.

10.

Enable database for AutoConfig.

11.

Copy the data files and $ORACLE_HOME database from the Linux server to the HP server.

12.

Run AutoConfig on the application tier after changing the SCONTEXT_FILE.
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A.11,1, 10,8, 12
B.9,7,3,6,1,12,8
C.9,11,1,8,10,12
D.4,1,11,6,1,8,12

E.2,4,5, 3,6, 10, 8, 12

Correct Answer: E

QUESTION 2
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Identify the formula based on which AD utilities provide the default number of workers.

A. 2 * (the number of CPUs on the database server)

B. 2 + (the number of CPUs on the database server)

C. 2 * (the parallel_max_servers initSID.ora parameter in the database)

D. 2 + (the parallel_max_servers initSID.ora parameter in the database)

Correct Answer: A

QUESTION 3

Which command can be used only with a single-node installation?

A. rapidwiz -restart

B. rapidwiz -techstack

C. rapidwiz -servername
D. rapidwiz -silent -config

Correct Answer: C

QUESTION 4

The Oracle Applications Release 12 processes on the application tier are started successfully. The Applications
database administrator (DBA) must apply a patch while the users are still using Oracle Applications. According to the
instructions from readme.txt of the patch to be applied, only the concurrent manager process must be shut down before
applying the patch. After the patch is applied successfully, one should start the concurrent manager processes. The

Applications DBA performs these steps to apply the patch on the application tier:

Step 1: Logs in to the application tier as "applmgr" Step 2: Changes to the $INST_TOP/admin/scripts directory Step 3:
Executes the adstpall.sh script Step 4: Applies the patch Step 5: Checks the log file of the patch for any errors Step 6:

Runs the $INST_TOP/admin/scripts/ adstrtal.sh script
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What do you conclude?

A. There are no mistakes in the steps.

B. In the sixth step, the location of the script is wrong.

C. In the third step, the adstpall.sh script should not be used.

D. In the first step, the user should be oracle instead of applmgr.

Correct Answer: C

QUESTION 5

In Oracle Applications R12, where will you find information regarding minimum or required settings for database
initialization parameters?

A. applora.txt
B. applprod.txt
C. applcust.txt
D. adconfig.txt
E. appl.txt

Correct Answer: A
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